O &H:202269H10H +tHER
O EHtakF%I14:30

OHEL 2022FEMET) -
O3 - 1=IN: 5353

ORERTHZI16:51 OXiE BN
F—L% (8B8)| 1Q 2Q 3Q 4Q TOTAL B &
ABAKKZE(M) 14 14 7 7 42 108K
EBEXZ() 0 0 0 6 6 Of% 18K
FREG
F— L Q Bf  PLAY PLAYER(S) Y¥—F TFP PLAYER(S) G/NG
AB* |1Q | 1:39 | Pass | #10HHP—-#8tH 23 K HA44EH G
AB*X |1Q | 5:02 |Pass | #10OHH—>#8tH 48 K HA44EH G
AB* | 2Q | 0:34 | Pass | #10OHHP—-#8tH 11 K HA44EH G
AB*X | 2Q| 7:57 | Rush #10H b 1 K #3240 G
ABX [3Q | 4:57 | Pass | #4EEF—>#8TH 29 K #44EH G
E8 4Q | 6:13 | Pass | #5hU—># 161K 12 K #1458 NG
ABX | 4Q [10:24 | Pass | #10EF—-#814L%H | 20 K HA44EH G
F— L £ ABRKE EBEXKZ
1.97—ARE DY BE# (5> — /<X —&Al) 20(10—10—0) 8(4—3—1)
WAV A -2 —tTH 19—-11-2 20—7—-0
wev—r | 208vds | 50vds

3T E#H—ER/FVY—F 33—190VYds 22—75Yds
4RE E#%-—EEV—F 52—393Yds 42—125Yds
5.5 8l B % — §RVv—F 5—35Yds 6—50Yds
6.77>7 L B —®% 2—1 0—0
7.74—ILRT—)L Bl — R Zh 0—0 0—0

M FETA) 7y R—)L 2 8




ABK|KZF
PASS
#5450 AR I | ¥—=F | TD [ INT
10|HFRE 17 9 165 4| 2
4 EEF]E 2 2 38| 1| 0
RUSH INTERCEPTION
BS|%H E#% | ¥—F| TD H5 |4 @4 | ¥—F | TD
4 EEF]E 13 54 0
7| FRoKAEE 17 125 0
10(HF RS 2 10 1
15| &R 88 1 1 0
RECEIVE QB SACK
HS |4 E# | ¥—F ™D = | &m0 E# | ¥—F
7| FRoKAEE 1 9 55| K ARE, 5
8| THmN 6 154
81|t EE 4 40
(A= pN=al
PASS
BS|%H Ekid R | Y—F | TD | INT
5|4LIL%E B 20 7 50 1| 0O
RUSH INTERCEPTION
= |G E# | v—FK | TD S | %0 % | v—FK [ TD
5 AL =g 4l A1 1 0 0 EINPN i) 59 0
14 HE) IR 1 0 0
17 )i B 1 8 0
21 AN /N=I 9 47 0
27 EEAD 7 31 0
RECEIVE QB SACK
HS |4 [#% | ¥—F| TD = | &80 [ | ¥—F
0 EINPN i) 3 11 0
16 VN e 2 16 1
17 )i B 1 11 0
27 EEAD 1 12 0




